                          CASE 2 :

   totsubs = {e1 -> 1/867, e3 -> 1/77, b1 -> 1/4, b2 -> 2/7, b3 -> 1/3}

  sx0 = {0.391848779440067626885604722563223748153380649595854577813`40, 

     0.391838792789722496908362650482065885426691333245603775355`40, 

     0.348185006310385605243056160861924192971781824823039178972`40, 

     0.348168443075420224049219255232637764971315808201798176224`40, 

     0.259852896706008588928392478345274643420831783100647269441`40, 

     0.259847945975483797940930658085592618851120246348961469477`40, 

     527.7087454188208884027418298065936703902197010978801697`40, 

     527.3031081108992781729154784539345113343899049454227168`40, 

     600.5872699971815415273494861138278132194549630632258793`40, 

     599.8217877957068774249296739488216502238144290639317237`40, 

     902.8550779742111180049136140675081820639463557743919942`40, 

     902.5109695675787430849845453482075643350457494672644205`40, 

       13.`40, 14.`40, 15.`40}

           pp = {0.3917925682555118, 0.3481425324376593, 0.2598376745448060}

          ptot = 0.9997727752379771

   shapval = {0.3531746031746032, 0.3353174603174603, 0.3115079365079365}

          shapvalexact = {89/252, 169/504, 157/504}

   Probabilities that various 2-coalitions form by elections of agencies:

   23coal = co1 = 0.3699609884935736

   13coal = co2 = 0.3521874455795275

   12coal = co3 = 0.27785156592689886

